
代数学幾何学 (A/B) 計算演習 [問題] (2009/10/22)

問. 次の行列の行列式を求めなさい

Q.1 ∣∣∣∣∣∣∣∣∣∣∣∣∣∣

1 1 1 1 1 1

7 3 5 −7 −3 8

49 9 25 49 9 64

343 27 125 −343 −27 512

2401 81 625 2401 81 4096

16807 243 3125 −16807 −243 32768

∣∣∣∣∣∣∣∣∣∣∣∣∣∣
Q.2 ∣∣∣∣∣∣∣∣∣∣∣

1 1 1 1 1

−2 −1 −8 −3 6

4 1 64 9 36

−8 −1 −512 −27 216

16 1 4096 81 1296

∣∣∣∣∣∣∣∣∣∣∣
Q.3 ∣∣∣∣∣∣∣∣∣∣∣

1 −3 9 −27 81

1 0 0 0 0

1 −2 4 −8 16

1 6 36 216 1296

1 9 81 729 6561

∣∣∣∣∣∣∣∣∣∣∣
Q.4 ∣∣∣∣∣∣∣∣∣

1 1 1 1

4 −1 −5 −3

16 1 25 9

64 −1 −125 −27

∣∣∣∣∣∣∣∣∣
Q.5 ∣∣∣∣∣∣∣∣∣∣∣∣∣∣

1 −3 9 −27 81 −243

1 7 49 343 2401 16807

1 −5 25 −125 625 −3125

1 9 81 729 6561 59049

1 −7 49 −343 2401 −16807

1 −6 36 −216 1296 −7776

∣∣∣∣∣∣∣∣∣∣∣∣∣∣

Q.6 ∣∣∣∣∣∣∣∣∣∣∣∣∣∣

1 −6 36 −216 1296 −7776

1 2 4 8 16 32

1 −8 64 −512 4096 −32768

1 1 1 1 1 1

1 0 0 0 0 0

1 −2 4 −8 16 −32

∣∣∣∣∣∣∣∣∣∣∣∣∣∣
Q.7 ∣∣∣∣∣∣∣∣∣

1 1 1 1

−2 −4 −5 5

4 16 25 25

−8 −64 −125 125

∣∣∣∣∣∣∣∣∣
Q.8 ∣∣∣∣∣∣∣∣∣

1 −2 4 −8

1 4 16 64

1 −1 1 −1

1 −3 9 −27

∣∣∣∣∣∣∣∣∣
Q.9 ∣∣∣∣∣∣∣∣∣∣∣

1 1 1 1 1

−4 7 5 −1 −5

16 49 25 1 25

−64 343 125 −1 −125

256 2401 625 1 625

∣∣∣∣∣∣∣∣∣∣∣
Q.10 ∣∣∣∣∣∣∣∣∣

1 0 0 0

1 1 1 1

1 −4 16 −64

1 5 25 125

∣∣∣∣∣∣∣∣∣
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代数学幾何学 (A/B) 計算演習 [解答] (2009/10/22)

A.1

与式 =

∣∣∣∣∣∣∣∣∣∣∣∣∣∣

1 1 1 1 1 1

7 3 5 −7 −3 8

49 9 25 49 9 64

343 27 125 −343 −27 512

2401 81 625 2401 81 4096

16807 243 3125 −16807 −243 32768

∣∣∣∣∣∣∣∣∣∣∣∣∣∣

=

∣∣∣∣∣∣∣∣∣∣∣∣∣∣

70 30 50 (−7)0 (−3)0 80

71 31 51 (−7)1 (−3)1 81

72 32 52 (−7)2 (−3)2 82

73 33 53 (−7)3 (−3)3 83

74 34 54 (−7)4 (−3)4 84

75 35 55 (−7)5 (−3)5 85

∣∣∣∣∣∣∣∣∣∣∣∣∣∣
= (8 − (−3)) × (8 − (−7)) × (8 − 5) × (8 − 3) × (8 − 7)

× (−3 − (−7)) × (−3 − 5) × (−3 − 3) × (−3 − 7)

× (−7 − 5) × (−7 − 3) × (−7 − 7)

× (5 − 3) × (5 − 7)

× (3 − 7)

= −1115258880

A.2

与式 =

∣∣∣∣∣∣∣∣∣∣∣

1 1 1 1 1

−2 −1 −8 −3 6

4 1 64 9 36

−8 −1 −512 −27 216

16 1 4096 81 1296

∣∣∣∣∣∣∣∣∣∣∣

=

∣∣∣∣∣∣∣∣∣∣∣

(−2)0 (−1)0 (−8)0 (−3)0 60

(−2)1 (−1)1 (−8)1 (−3)1 61

(−2)2 (−1)2 (−8)2 (−3)2 62

(−2)3 (−1)3 (−8)3 (−3)3 63

(−2)4 (−1)4 (−8)4 (−3)4 64

∣∣∣∣∣∣∣∣∣∣∣
= (6 − (−3)) × (6 − (−8)) × (6 − (−1)) × (6 − (−2))

× (−3 − (−8)) × (−3 − (−1)) × (−3 − (−2))

× (−8 − (−1)) × (−8 − (−2))

× (−1 − (−2))

= 2963520
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A.3

与式 =

∣∣∣∣∣∣∣∣∣∣∣

1 −3 9 −27 81

1 0 0 0 0

1 −2 4 −8 16

1 6 36 216 1296

1 9 81 729 6561

∣∣∣∣∣∣∣∣∣∣∣

=

∣∣∣∣∣∣∣∣∣∣∣

(−3)0 (−3)1 (−3)2 (−3)3 (−3)4

00 01 02 03 04

(−2)0 (−2)1 (−2)2 (−2)3 (−2)4

60 61 62 63 64

90 91 92 93 94

∣∣∣∣∣∣∣∣∣∣∣
= (9 − 6) × (9 − (−2)) × (9 − 0) × (9 − (−3))

× (6 − (−2)) × (6 − 0) × (6 − (−3))

× (−2 − 0) × (−2 − (−3))

× (0 − (−3))

= −9237888

A.4

与式 =

∣∣∣∣∣∣∣∣∣
1 1 1 1

4 −1 −5 −3

16 1 25 9

64 −1 −125 −27

∣∣∣∣∣∣∣∣∣
=

∣∣∣∣∣∣∣∣∣
40 (−1)0 (−5)0 (−3)0

41 (−1)1 (−5)1 (−3)1

42 (−1)2 (−5)2 (−3)2

43 (−1)3 (−5)3 (−3)3

∣∣∣∣∣∣∣∣∣
= (−3 − (−5)) × (−3 − (−1)) × (−3 − 4)

× (−5 − (−1)) × (−5 − 4)

× (−1 − 4)

= −5040
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A.5

与式 =

∣∣∣∣∣∣∣∣∣∣∣∣∣∣

1 −3 9 −27 81 −243

1 7 49 343 2401 16807

1 −5 25 −125 625 −3125

1 9 81 729 6561 59049

1 −7 49 −343 2401 −16807

1 −6 36 −216 1296 −7776

∣∣∣∣∣∣∣∣∣∣∣∣∣∣

=

∣∣∣∣∣∣∣∣∣∣∣∣∣∣

(−3)0 (−3)1 (−3)2 (−3)3 (−3)4 (−3)5

70 71 72 73 74 75

(−5)0 (−5)1 (−5)2 (−5)3 (−5)4 (−5)5

90 91 92 93 94 95

(−7)0 (−7)1 (−7)2 (−7)3 (−7)4 (−7)5

(−6)0 (−6)1 (−6)2 (−6)3 (−6)4 (−6)5

∣∣∣∣∣∣∣∣∣∣∣∣∣∣
= (−6 − (−7)) × (−6 − 9) × (−6 − (−5)) × (−6 − 7) × (−6 − (−3))

× (−7 − 9) × (−7 − (−5)) × (−7 − 7) × (−7 − (−3))

× (9 − (−5)) × (9 − 7) × (9 − (−3))

× (−5 − 7) × (−5 − (−3))

× (7 − (−3))

= −1362821120
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A.6

与式 =

∣∣∣∣∣∣∣∣∣∣∣∣∣∣

1 −6 36 −216 1296 −7776

1 2 4 8 16 32

1 −8 64 −512 4096 −32768

1 1 1 1 1 1

1 0 0 0 0 0

1 −2 4 −8 16 −32

∣∣∣∣∣∣∣∣∣∣∣∣∣∣

=

∣∣∣∣∣∣∣∣∣∣∣∣∣∣

(−6)0 (−6)1 (−6)2 (−6)3 (−6)4 (−6)5

20 21 22 23 24 25

(−8)0 (−8)1 (−8)2 (−8)3 (−8)4 (−8)5

10 11 12 13 14 15

00 01 02 03 04 05

(−2)0 (−2)1 (−2)2 (−2)3 (−2)4 (−2)5

∣∣∣∣∣∣∣∣∣∣∣∣∣∣
= (−2 − 0) × (−2 − 1) × (−2 − (−8)) × (−2 − 2) × (−2 − (−6))

× (0 − 1) × (0 − (−8)) × (0 − 2) × (0 − (−6))

× (1 − (−8)) × (1 − 2) × (1 − (−6))

× (−8 − 2) × (−8 − (−6))

× (2 − (−6))

= 557383680

A.7

与式 =

∣∣∣∣∣∣∣∣∣
1 1 1 1

−2 −4 −5 5

4 16 25 25

−8 −64 −125 125

∣∣∣∣∣∣∣∣∣
=

∣∣∣∣∣∣∣∣∣
(−2)0 (−4)0 (−5)0 50

(−2)1 (−4)1 (−5)1 51

(−2)2 (−4)2 (−5)2 52

(−2)3 (−4)3 (−5)3 53

∣∣∣∣∣∣∣∣∣
= (5 − (−5)) × (5 − (−4)) × (5 − (−2))

× (−5 − (−4)) × (−5 − (−2))

× (−4 − (−2))

= −3780
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A.8

与式 =

∣∣∣∣∣∣∣∣∣
1 −2 4 −8

1 4 16 64

1 −1 1 −1

1 −3 9 −27

∣∣∣∣∣∣∣∣∣
=

∣∣∣∣∣∣∣∣∣
(−2)0 (−2)1 (−2)2 (−2)3

40 41 42 43

(−1)0 (−1)1 (−1)2 (−1)3

(−3)0 (−3)1 (−3)2 (−3)3

∣∣∣∣∣∣∣∣∣
= (−3 − (−1)) × (−3 − 4) × (−3 − (−2))

× (−1 − 4) × (−1 − (−2))

× (4 − (−2))

= 420

A.9

与式 =

∣∣∣∣∣∣∣∣∣∣∣

1 1 1 1 1

−4 7 5 −1 −5

16 49 25 1 25

−64 343 125 −1 −125

256 2401 625 1 625

∣∣∣∣∣∣∣∣∣∣∣

=

∣∣∣∣∣∣∣∣∣∣∣

(−4)0 70 50 (−1)0 (−5)0

(−4)1 71 51 (−1)1 (−5)1

(−4)2 72 52 (−1)2 (−5)2

(−4)3 73 53 (−1)3 (−5)3

(−4)4 74 54 (−1)4 (−5)4

∣∣∣∣∣∣∣∣∣∣∣
= (−5 − (−1)) × (−5 − 5) × (−5 − 7) × (−5 − (−4))

× (−1 − 5) × (−1 − 7) × (−1 − (−4))

× (5 − 7) × (5 − (−4))

× (7 − (−4))

= −13685760
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A.10

与式 =

∣∣∣∣∣∣∣∣∣
1 0 0 0

1 1 1 1

1 −4 16 −64

1 5 25 125

∣∣∣∣∣∣∣∣∣
=

∣∣∣∣∣∣∣∣∣
00 01 02 03

10 11 12 13

(−4)0 (−4)1 (−4)2 (−4)3

50 51 52 53

∣∣∣∣∣∣∣∣∣
= (5 − (−4)) × (5 − 1) × (5 − 0)

× (−4 − 1) × (−4 − 0)

× (1 − 0)

= 3600
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